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HPOTEINOMENEY
AINANTHYEIYX OEMATON

OEMA A

Al.a.2,B.2,y.N\, 0. N\ . A

A2.1.¢,2.y.,3.a,4.0t1,5.6.

OEMA B

B1. Xx. BiBAlo o). 401 (Atoptkr), Opadikn Kat Kevtplkni avtiotaduion)

B2. a) Xx. BiBAlo o€A. 458 (oxAua)

B) Uues=0,45*U =0,45*100=45V

Uey=0,5*U =0,5%100=50V

B3. w=2nf=2n*50=100mrad/s

d=wt+d,=100m*0,01+1/2=nt+1t/2=(311/2)rad

OEMAT

r. IVP :\/g*lrpzy _>20\/§:\/§*]rpzy —>11—p17 =20A

2. R=

R*R, 30%60 1800

= = =200
R+R, 30+60 90
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r3.

I, =%—>zoz%—>zj® =20%20 = 400V

U, =U, - U, =400V
ra.

P, =1,,%*R=20"*20=400%20 = 8000
P,, =3*P, =3%8000 = 24000/

OEMA A
Al.

Z2=X+R—>25=X,"+15 > 625= X, +225
— X,> =625-225=400 — X, = /400 =20Q

A2,

, :UROZ%ZMA

° R
Iwzlo =ﬂ=4A
NI
1, _Ya —>4:U‘W —->U,, =4*25=100V
V4 25
A3.
ova=§=l—5:0,6
Z 25
P=U_I, oovp=100%4*0,6 =240
X, 20
:—:—:0’8
nuy 7 s

O=U. I nup=100%4%0,8 =320VAr
A4,

240 _ 2400

P=S"*ocvvp'—>240=5"*0,8 > S'= 0.8

=300V4

0'=S"*nue'=300%0,6 =180V Ar
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Q5.

0. =0-0'=320—180 =140VAr

o O 140 M0 1 U5 5 _augep
©*U,’  280*100° 280*10000 2*10000 2*10° 10*10* 10°
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